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GENERAL INTELUIGENCE & REASONING e e

Directi ns:[nql_:':.{!ﬁrit}nnas.lmﬁ,sciect therelated words/ 7| 12. (A} W - (B) N {_C"} ) (D) N
letters/ numbers from the givenalternatives. i} -

5 A = 7 B
o | MREUGIRG s 13. -Which one of the given reapmwea would be a

T _..r{ﬂ)----'[l =B 2" e SR G e AR “mieafiingful arderof the follawing 2. =0 22
et s s {1) substance (2} - atom -
_ A3 Reference material :D[climwr}!:_: Perindical : __ 7 lecil : e
-, . A} - Biography (B): Newspaper m 11‘10 ecle : l:] ;Pm' ‘jn _
0, Bk | s : W60, 0 aﬂ ) (L)oo
R e ; : _ ' ,tq___fffiz_f_fanf - PraL o
3+ CKMNE:ACDE PRSI ¥ e fae T SR A W
(A} VXYZ. (B)- LNFR : 14.  Arrange the following w{}rdéas per-_crrt_ier in the
(G STVW O TVIWY g dictionary. :
g (1) Acarpous : (2} Agress
el ae i BEDE GIT i LON 2 00 y w3 - Aircede S (L) Acadenyg

) BT (B KNH Q.Q5 (D) FI3 5) Agcentuate

el o S S g o ) 3.4 1 2.6 B0 .0.6.0

AA) Bowl: @) Mag . © @:@).06).6.0 fD!} (2), (3). (1) (‘ﬂ’_{w':—:'?

per e ieEtERe S B4 T 3 (D) Bpoon

S I R BT - Direstion : Inquestionnos. 151018, a&enesusgwen,thh A
"6 DGR HILK:-NORO:- 1 i { one term missing. Chopse the correct alterriative from the

! {ﬁ}: STIATY ] (B IGNL given ones 1hat1wﬁlcomp]eie the serigs.
O UVWY ) pQT1S 258 M ENTPO -2 a2 e

(A) QU- @ Q0 ([ QI D) PA
DII'LCI'IUH‘; In question nos. '?t{}lﬂ,fmd theﬂddn,_uﬁlxr':f ' ] -

Eetter&jfly.uefnun‘.bu pair from the given alternatives. 16. _2,90,56,110, 7 .
ey o) Higt " TA) 182 @ 15 (O 132 (D) 144
(Q WXYZ [0) PRSQ : 2
8. (A) Divergent Production ' WA WLand4M, o 2 !
(B) Cognition (A) 626 {B) 524 Q) 646 (D) 828
S, Forgetting 3 S
. (D} Convergent Froduction = 18. LMN, MNOP, NOPQR, 2 :
% o )  (A) QRSTUV (B) PORSTU
g. (&) Farmtasy (B) Disgust =30 i DFQRS]’. - D) RSTUVY

[C] Dlsueqs -+ (D) Sorrow
0 (2 —:.51{ I. . {B) -’51}5-"--.' (G 579 N (D) 122 LT .'_lr PRQ :ﬂ s, LD{iC‘t‘l‘]bd‘lTﬁ-L,. and OTUSWY is coded -
' ' - . as 05687, then how is TRO{,}P coded ?

R IR T Ede e T s T < (B) 95210
b R e MR T n-wf: S -m 19{}*1 -'."i R (:{J{T"l -
i ff“"'._ SPALE FOR ROU(‘H“WORK T ‘ g
v~ SRR N € Moo o e LR IR, kL
" CY-2013/Page? SiIF, W IS P T Pk B Bz N 333 N 4
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20. Inacode languagé’ TEMPORARY. is written as 5 v B i =
'EPRSAYOYM and "EXCUSE’ as 'PGNVXP" . Haw | 28.° ?i _f- S B \
- s "ASSURE' written in that code ? - : T R -
__(A) OPPVXP (Mo s 3 Ai . Bl 0T — B
i (Q QrPPVYP [D} OXXVYP X Pt 8 = 3
5 29. AisB'swile's husband’s brother. Cand D aresistes
21, Insert the arithmetic operations in the following of B. How is A related b:} C-f:
numerical ﬁgures_: {A] Wil s - (B :Spsters 5
e 13 AF A = = 7 T T (Q Brother - (D) Sister-in-law
(A) + X+ B 4+ + x 3
{Q < X F AR} mEmE o 30. Fs. train runs for 2 hrs at the 5p€ed 0[ 40 km_z'h It
22 How many such pairs of detters are there in the hnrd % runs for 4 5 hrs at the S]J'QE‘d of 60 km,r’ h and thert
RECOVERED, which have as many lefters between | g : .
. ¥ i B E : AR 1 9 i i) - 1
them 4 the'word as in the hn;;J!ts'Fl alphabet 7 i For iz ks pieflie sp /b, Findthe il
{A) Six (B) Five 2 :
(©) Three | (D) Four average specd of
] (A) 56:57 kigh 571 km/h
23. If + means <, — means X, X means + and € 593 g0 km/h
+ means —, then which of the alternative is :
Carpect ¢ : o a d.r:-couu of 15% an article is soIda’t
(A) 38+10-5+7x8=25 ,rf -, whatis its marked price ?
(B) 10-12+2+30x1=10 ) a0
Q) 5%8-5+5+1=12 el
(D). 55-2+10+ 1§5=16. ] ) 060
24,  From the given alternatives seleci the word which | Directions : I“-‘-l'-“f‘*‘t'i‘:'n'“‘:‘ﬁ- 32 t0 34, select the missing
can be formed usinb thefletters given in the word. number from the given responses.
(A) 'I[{AMTION w(B) INTERNAL 19° an bty
(© Jlublsaw . () ALTERATION e -~-H -_
25. IEBEF‘:’I‘H?ES*- 226-7 and RUST =6-6-8-7, then (A) 38 B) 26 © 25 (D) 34
how will you'eode 'BURST" ? :
{A) 25-9-8-7-6 (B} 25-6-9-8-7
(@ 25-22-9-8-7 (D) 25-9-6-8-7 3B 8 duli3
8 & 56 £
26,  From the given alternative words, select the word 5 3 ’
which cannot be formed using the letters of the ¥
given word : = (A} 8 ) 2 Q 4 D) 6
PRESUMPTION - . i) :. A
(A) Pump (B} Ruin _ i o
(€ Tier D) Pompous S TR T I )
27.  Theageof Ramisdoubleas that of Shyamand half | 9 M0 4 i a— e
asthat of Suresh. If the sum of the'r auefl*‘- »{1 uhat e | e "-65-- i o i i ]
.. istheageof Ram? L, =Sk : 3 T -3
Wm0, @ (@720 {@J'“wu . H} s @ 49 @30 T 5t
.~ SPACE FOR RDUGH.WGRK N T By %
= P ) e -

L -

- -
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ﬁd:f’.[{anial-.d Ravistart logether froma pnintﬁ]ﬂp'pn{-:ite 39.  The dollowing diagram represents E?IE‘DNE_WhU
direction on sconters. Ram’s speed 1s 21 kmy/hand speak different languages. S
—~Ravi's speedisi kmlh What will be thedistance |~ _ RN
fween them after 20 minutes ? ) : AR T
be. 5 : e {1}}- Kannada (i) English
(&) 12km B) 45km - 1 : ’
@ 25km (D) 16km {iii} H_incli {iv] Marathi
One morning afler sunrise, Gangadhar was walking What does the Shm'Ed areq respresents ?
facing a 'm]e The shadow of the pole fell exactly to =
I'us rig ht, whn:h direction.was he facing ?
(A] North {'B} Eﬂbt s
R {:Cj South (D) M‘fgs{ =
. it _'... i
Directions : In question nos. 37 and 38, ene statement(s) is d
followed by two conclusions/ "hsvmpl]on&. land ] You (A) People who spea 1ada, English m‘f
- have to consider the statement(s) to be true, even if they Marathis @ "
seem(s) to be at variance from commonly known facts. You ’ s : - ‘%
_ have todecide which of the given conclusions/ assumption, @ #ho speak Kannada and English.
ifany, follow(s) from the given statr:ments{s] . - - 5 :
- ."H‘.'{i —
37. .. Statement :” Read this notice before entering into 4o 'w,f { cﬂp]&u ho spﬂak'Englishand Hindi- =
; the stadium. i r; L b -
: Assumptimi:{, “enplmn&hte:ate i‘! "~ (D) People who speak Kannada, Enghshaq-
i . Noblind 11erﬁm1cnmesm e :
- thestadiumi 4 % =
(A) Bothland Ilare implict ; : -
Only assumplion Tis implicit : : PAGT
®) e P 46.  Form the correct pattern with the segments given.
(C) - Onlgassumptionil s implicit Lo
(D} Neither Tner Il isimplicit Question figure : A,
38.  Statemeni: A carhad driven off the road and hita
- tree, The dniver was efficient enough. N \
The road was not good. The driver | .
. drovethecartorfasl fifteen years. T LI\A f-:j’
. p A S el |
Conclusion: I Theaccident accurred due to bad = 7
- condition rol'rcm*' _ . .f_ =
- - nswer figures
i, There wasa ny ‘Llnamﬁn famtm i B, |
N thegar, .. - ' s | = i e ST
{ Jone of the coy ST J i '--‘..‘. ) ‘I—— —*i_. \‘
(A) Noneo the m"n.lumm 15 r:-an Em | T3 ! |[ :'I'Fh R__Ff ” ; >
'(B) Onlv conclusion Lis thae, s n " b ?,}” Ef ' I i j' el i) Jlf' 3 u £ N -
() D.rﬁrt'ﬂn.c]uﬂim*all islroe - o s LH Dl Lh_— (& M ;1:- o
(D) T{ath the cmu.lm.mrm. an be'true Gk "-]'" B €= (D)
SPACE FOR RDUEH WORK" ! 2

= - -
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41. _ How many lriﬂngl-u-fa :u-e there in this higure ? “Directions: in question nos-44 a.nd 45, w hu.h-answer Elgum
= B "3 will complete the pattern in the question figure 7. .~ 4
S Quesﬁnnfigure: e e . i — W —-d44 - — Q__lesnﬂn_f]gml‘_ U0 il ...__}_. e
I 7 4 2 d : P E
SR [0 | S S e I D L) PR i - et By S il [N 7 e G L R e X RS T e i e S
= 5 Answer figures:
I[Aj 100rm0r€ B {B) 10" ‘ -
@12 - (D) 14
. 7 :
42.  Which one of the foilowing diagramsrepresents the | 45 Question figurefh A %
correct relationship with the Class teacher, Girls and vl
Boys of Std. VIIL 7 '
-

O on I © 0 484" -
'O @ @ i ]b . Answer figures: C3 éé'

W S RS S
[ [e2] ] [

.
(A) (B) SRR, bt

43. There are'thrée intersecting circles representing

English kney ing persons, aporibman and persons RN . o
Bt lrewrkmgaﬂ]m] iceman. Different regions so | Direction : In question n{}s._dﬁ arfd 47, from Fhe i??l"u"l:_'l'i
obtained in the ficure are marked 1,2,3, 4,5, 6 answer figures, select the one in which the question figure

andi 2 . 1 is hidden/embedded.

46. Question figure:

E ’ FE St T 1
: ] ) L Sporisman | :

EEngiish knowing l, = 3J B P el l\ : B :
MErson N S SN S ; = :
e N s .

: b ! %

p: T i . y by
e l}v-—FlJlJLEn.'I.EUJ =S e

- e -

Answer figures:

[f vou select persons, w ho donot know Enghsh and _-l { y\l & L/ : :
“-age not policeman, which of-the region is to be . > | (LT S K el
ﬂU]:JLJ::’d i e e W _ : | Id Pl __J'}_, B e =
: - s L 901 1
é : [_n,t] 3 - tB] 3 ] {Q 7 {D:I b [:'\] - {BJ > :{E:}' = ,.[D] |
' - _ SPACE FOR ROUGH WURK A T
—_——— == C e — —_— : -, o
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47.  Question figure: . , 4
b
Answer figures:
r . - ;. -.
A X
T3 B
¢ (B) (€ (D)
]
- Jl
* 48, lfamirroris 15-laced on the line MN,.then whir:hﬂf
: the answer. flgures is Lhe right image of t;['r& gweu »
“figure? | ~ -
== Question figure:
wpae b .

P e EI

49. A piece of paper is lolded and cut as shown below:

__in the question figures From the given answer
f igures, mdmat:: how it mli app-:ar w hen opened. -

Question figt-ues :
TCHED@TT
; .."__I'Mﬁnﬁweffigﬁi"es-:'j‘ P - e
T RO "«"*5_ |
Lol :ﬁ“m .<> |
(A) .l@} {1 ;
)
o i‘%‘h%ﬁ
\Y g'-ﬁ'-
- ':_l-l'n .

Eﬂ '.ga word s represented by only one setof numbers as.

“given in any oneof the alternatives. The sets of
_numbers givenin the altenatives are represented by
two classes of alphabets as in two matrices given
" below. The columns and rows¢ of Matrix I are
. numbered from 0 to 4 and that of Matix II are

- numbered from 5to 9. A letter from these matrices.

can be represented first by its row and next by its
column, e.g., ‘N’ can be represented by 43, 34, étc.,
and ‘R’ can be represented by 97, 68 , elc. Similarly,
you have to identify the set for the ward L*lven
‘PDL@ :

™

Matrix - I -Malrix -k

e E— - SRS
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51.  The Constitution crj India, describws India as: . 1759, Efetalagsemhly SETMents in Delhiare : I8
(A} Unitary (B) Unionofstales - (A) 70 (B) 40 (Q 50 (D) 60

(O A PFederation (@) Aquasi-federal = X
— CERR ————{-60--~Anincrease-inthequantity supplied-suggests—— —
52. [I'he threshold fr ﬁq:.u:m.\ is the frequency below (4) amovementdownalong the supply curve
ol h] S (B) - a rightward shift of the supply curve E
; (O aleftward shift of the supply curve
D) a mm:'@‘;he'ritﬁp aInng the supply curve .

& (ﬁ?q “photoelectric ér_nission'isn_u_tpossible
'(B} _Eiiiqtc:'.t:ur:mtis-mustamt "_ s

C) phot nt increases with voltag S :
(g le pcurlr611 :Emlzhieslﬁ 1_1:-101 5¢ X 61.  Thefreezing pointof fresh water is L
(D) photo current decreases with vollage (A FC @) 0°C Q 2 D) 3C

53, The damage of the human body due to radiation | g2 The Minimum Support Pric '“’%%[ orains was

(X-rays or y-rays etc,} is measured in: . introduced in theyear
(A) Curie (B) Rads
() Rems . D Rnentgen_ tt\ m 9[—.4 .

53, Which of the followings is not correct? "-'-_?u- > thefeds no Law then. willnot~
(A), NGT - National Growth Tribunal

(B) MSP- Minimum Support Price [B] John Locke

(D} Plato
() NMA - National v unumentaﬂuﬁmrm : A -
(D) PIL-Public Intelesrutmahcn ny = "151 Obsidian, Andesite, Gabbro and P-:mﬂite are;
: ' | ¥ (A) Sedimentary rocks 2
55.  Dactylogram is related withis ] g . (B) Extrusiverocks .
(A) cereals (B) Bnger print () I\fIEtanmrpiﬁ;:-mck's =
(O teleprintes (@ perumbulator (D) Intrusive rocks
56.. Coupling ﬁﬁl.ilk."lulblﬂnait_l] » two states of - 65.  Potatowas introduced to Eurepe by :
(A) o tation (B) crossingover () Spanish (B} Dutch
() Tinkage (D) chiasmia I Batayesg B () IR
- ) 66.  Transition ivns absorblightin: -
57 1’13;:[, :T,;mmd that has the least value [or ﬂct'me A} e Gaves Fesign (B} -VTBIE Seien
, 4 - } % Q) infraredregion ['D} ultraviolet region =
(A 2. 2-dimethvl hexane (B - heptane -
(& 2 I;-'méﬂ‘!}'] heptace (D) ,Iw_ cn.tam - "'G'J'__—__-'Jl"’rhh'h—ﬂl‘li‘ ol the'fs ﬂlcm g s used as &u?LUl‘Im-‘lI‘L :
= ; storage svslemin mmpuler e =
.38, Thecurrent spell of cold wax mnl.l-.?L‘Hh::q mcn 13 SRAEPROM T (B) R’Di“xl :
¢ falleut of the Sl -._ e - Gy Al ©) ﬂ-:-ppm Ve
LA} cliimate anid SIORED =2 e S i - =1 i) 2
I'BIT"}nn!itic:ll_nd_:})mi'-:hu!_itm L B, IR I'!}S. Virtually freeless, sparse ve_gem[ion is found m;/d A
({0 pc-larl.;grl-:.\; TETE R g e A L ¢ (A) Tundra iy "~ (B -l’..*.h.'n}'}].}:-':rzi_] . =:n:' :
. D) biodiversity and habitats = - - e () -Taiga . —-- -—<{D) Mpme o TUE
' = . | = oo
~CY-2013/ Pagel T “":.. g ' 333 NI 4
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Whe benelits the maos| dur:nﬂ the 1!1Ha.t|r.:un<1rv
. period ? L

(A) _enizepreneurs
{B)_eo uerln'm;e-n! servanls.-
(C) corporateservants -
(D) creditors’ E

Flywheel is an important part of a sicam engine
~becauseit i
(4) decreases the moment of inertia
(B) gives strength to theengine

- (Q accelerates the speed of the engine -
[Dj he!ps thL engine in I».eapmb the speud uniform

Whowas Ehe Delhi Sultan to impose Jizya even on
the Brahmins ?

¢ (4) Mubammad Tughluq () Balban
() Ala-ud-dinKhili (D) Firuz Tughlug

Tesla is a unit of magnetic:
fA) moment

LG ﬂl_'zx

(B) field
(D) induction

The production, marketing, storage, advertisement |

and consumption of smokeless tobacco is banned
in:

(A) Nagaland
@ Assam

(B) Meghalava

@) Arunachal Pradesh
‘Demaeratic Centralism’ is animpartant feature of
a:
(A) Totalitarian state
(@ Commumiststate =

(B) Socialist state
{D) Denmocratic state

Sir C. V. Raman was awarded Nobel Prize for his

work on
() Cryogenics
(©) Light Scattering

(B) Sondmeter

(D) Radio activity
1] : ] 2

Which of the foltowing does not have o Stupa ?

{4) Barhut = . - ° .- (B} Dhamwek

e -"(L‘f; Sanch i

-—J'-‘- e

PI't].'h']l'ﬂlllf‘ll‘l of l=uth_=h~:hﬁ, h-. a lunw_-hn‘-!d For their
“own uSe iSa pari ol.: T

H] |I'1|."ILI‘~E1 l"ﬂ_pmdm.lmn s
{BI consamption :
. (€] oven-accountproduction
_{Dj household capitad forimation

- » _-
= L be -

| 80.

51.

78.  "Shadow Cabinet’ isthe feature of Ad ministra

svstemof ; _
: 2

{A) France
.{_{'_;J Britain

L||1 e =

(B)
(D) Us; ‘-.

Deficiency of iron causes : ,
‘(A) Rickets. - . (B} —Sé'u-r-.j*}*—_ T
(& Goitre (D) Polio

“Krishi Karman Award” 2012-13 for all time reco.
in food grain pmductmn was givento: T

(A) " (B) (Jd:sha
-{C) Madhya Pradesh [D]"‘tl
: ".k "‘(v-"
Who is ko wuw&; cha.,ra’f indian Unrest”?
) Ao '&ammhr- '
i Hf'h.JDd!
»Gﬂnomﬁiar Tilak
dﬂ) Lalalajpat Rai =

Famil Madu

VoMl

T'he ‘plants; which gr-;;w under water stre:
conditionsof deserts are :
“(A) Heliophyt&—

(C) Epiphytes

82

(B) Sciophytes

(D) Xerophytes ™
Cl:rn::u;mr Protection Act 1986, was amended in :
(A 1994 (B 1991 (C) 1992 - {By 195

5. Which body is constituted by the President of Indi

to advise on the decision of Central Resource
between lhie_ centre and the state? .
(A} Flnning Commission
{E‘.- - Taxation Enguirv Commission
) Fariff Comnunission

; i-)i }:h 1!.!.{._01{":1&‘;51@1\

.#L

= -
ey

e UNIA operating systeniis aml..'.hle ml 59

l, Al .Jlf-ll |t‘iuled Fl 1.'\1._1_‘-:-‘:111 v

- o —

- . iR Huh-fuu:ver
(€] \ml-m{,

{D} xmi Tau.ﬁ-ocem nﬂ- %

) !
—
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_ 86, The palr o cumpnund: used as anaesthetic in | 94, . Theunitof noise pollution (level) is :
2 ‘medicines: (A) decibel (B) “decimal_ i
(A) Chloroform, Nitrogen diox ide . T LA e, - SR
S S T 3 (©) ppm (D) None of the above
- (B) Nltrngergmmdef ether : ) _
© (G Ether, Ammonia y
(D) Nitrous oxide, Chloroform 95. Inrelationtothe S'Latebovemmﬂnt In« al gnvemnwn't
i 00T AN e SleEgsesi v e EREs
'87.  Study of organisms in relation to their environment A Superiﬂr Authority :
aie g _.isu;allecl.f S B, - () ‘Indegendent Authotity ~ " -
@ Entﬂ:g{_nlag}r.--- 5 (B)- Falynology - (O Coardma\te.%ﬁﬂ-\ar-i'tyl .
(@ Ecdlogy . - *. . (D) Zoology. J
P b h (D} Delega.ted Authority.
“ 88. . “Ryder Cup" isawarded to the players of : ; ‘ﬁ?‘;& : -_.
{(A) Cards (B) Golf 96. Section of IPC, "nh -h de th' LGBT (Lesbian,
(C) Baseball- (D) Basket ball \ ~ Gay, Bisexual a Tnm refder) community 1s:
(A). 377 %{ S (B)376
89.  Stamensare fuised with each other by their anthers : %,f- (D) None of these
and also with the petals in : y e
- # ’|l‘
(A Cmrqmsme . (B) Euphorl:nacean A ‘\ﬁ
; , ¥ 4\ b amon - the following is the Eﬁul'tder of the |
[C'] I L +{0) - Liliageac L 951 .~“';.f,:':u:thdE Fauj” ? 2 ke
E L E ¥ i " A 1”" s * F T 4 - - -1
0. W‘}ur_‘h Hatmnal I'hghh ay is'c :!lud Shevﬁth bun ' [‘n‘j VE Savarkar .
Marg? : (B) Chandrashekhar Azad r ~
(f!‘L} Nﬂ'liﬂl_la.l Highwﬂ}r N % * {CJ Lala Har Da}ia[.. :
(B) National Highway Nez | (D) Subash Chandra Bose ]
i (O National Highway No:3 " : ’
(0" National Highway No : & .
99.  Soilfactors are otherwise knownas:
1.  The site,0bbirth fnativity] of Gautam Buddha is (A) Physiographic factors (B) Climatic factors.
TTEN D {C) Edaphic factors (D)) Biotic factors
{A) astatue
(B) "2 Peepal Tree - g
= 4 o =N o & 17 i
{©) amonastery 29, Where does the cabbage store foud :
(D) “a*Rummindei Pillar” of Ashok Maurva _{A) Fruit (B) Root
- ' {Q Leaves . (D) Stems ..
,91' The type of fruit obtained from ¢ mulmupdlau N = n
Egcarmuwwﬂmumls ' . Al G g 6 e e 2 E N
= : = ; pt T 7 100, Which of the following books is nét written by
(A -simple _ﬂ)} zmllhp s Imn}nr]al 7\.&!11 i3 . -
-~ () composite ag e’t,.l'&—'_-—' - il 0 ERTo o
St R et (DJ i P H} ‘m h'li'l{‘:hm mpiu £ e i
‘:3‘3._ - The péuﬁe of mrbuﬁ' in ff:'u;t' iron s _..j,.ﬁ ~ 9 - (B} Ghm}ms of ) \‘I-’whﬂ Ié:f'l'*l\ ) _ N &
A 6 10§ :;-F ve @) atas ;., e " {Q Discovery oj.lndug i ; Sy
© 5T1d25 - - @) 05w15 - .. (D] MyEiperiments with Truth' ~ - - <
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PART i€ 5 b _
e et o QUANTITATIVE APTRRUBESY.  Sitesie., S5 -7 i
101.  What is the product of the roots of the equaliﬂif. 108 1f x+y=15 then {_g—i{]jl‘- + (y=5)Pis: b
2= e (A) 625 (B) 0 Q 25 D) 125
(A3 B) o3 | 109, IFAFGH isisosceles and FG « 3 em, GH=8 eri; therv-
| : of the following, the true relationis: -
Q +.3 0 b i ; (A) FH>GH - (B} GH<GF
: _ - {C} GH=FH o (D} GF GH
. ) . .
1 Wbl ot ot | 1, Temimimastcfsommon i
o e -lotwo circles when both
remainder be mid 50 as to g:un 20% on the whule S . .l‘I'IIEICI.rdEtDuEhE?ExtEmallY
transaction ? ' O\
' (A) 3 [B} b d 2
(&) 8% (B)-30% (O 32% : (D) 35% 4 &C} &
LY
’ ; : N : el
103. For Iwl‘ml "I.fﬂlUE'. (s} of K the expression ML If x~ T = thﬂml.Luahlem '? 2 <
Ptg Jp + K¥isa perfect square ? P 3x" 495 =3
i g Y.~ 1 T
T S SO BB R o 4 o
{)"5 [’B}_Z {C}_j .:iD}—‘l. ; y . = o
£ * = ’ s , 1 \i
£ 2 W : = : i
104. - h:md Htogeﬂ‘:ercanmmpiete"t]m:r'nS uayb Both" 2. lfa = 2+ V3, thenthe value.uf‘ 2 at } 15
B and C.working alone can finish the samejob in A) 16 (B 10 :
12days. A and B commencework on the job, and X -.{ ) Y {} l e e
‘works for 4 days, whereupon A leaves. B cantinues b :
merlnnre days, Emf! then_lea‘fes too. Crow starls | 113, If ——o + 2 Uil =ha 1 and a-b+c #0
working, and finishes the job. How many daysdid "' b = *
Crequie? then which one of the following relation is true ?
. (A3 ® 4 Q) 5 ) 8 T O 1S e e
: A) —=— == — == =
: : {}b R (B]b a2 ¢
» , ’ L ol 1 TR T TR
105. InAABC, £B=90"and AB:BC=2:1. The value of (Gt = D)5
ginA+cotCis: & o L I b ¢
(A) 2+ S5 ® 3.3 114. For a triangle ABC, D and E are two points on AB
i . 14JF - and AC such.that AD =L AB, AE= 1 AC. If
© 3+3 0 = e : LU
LW D ~"BC=12cm then DEIS )
= (A). 3em {’B} 6em - (C) Sem | (D) dem
_106. 'Thmpalue nf S:HH:‘ :‘;\qu~. 19 B 115: - If ABC is an equllateral triangle and P, Q, R
a ; R VA Bm-;__ﬁ il i reape.Ltweh deriotethe middle points of AB;BC, CA
w2 7 ®m -1 ©0 . @1 | e - '
b e '[ﬁl_PQ“‘QR*PR'—EB = S
s LU 2 I i avA L e = (B) PQRanustbéarightal mwledtrlmw[f'. :
f“.. 1: Ci .—.:‘} -3 }‘. x
1!{_ A I.t 111l}"+mlﬂ __l%_:u-._p thexnhu. oidis: . ‘1% PGR musthr:anequ&ntenllrmnﬂlf N
(A) 90° /‘-I_E‘J-_pﬂ“ {C:l 4: Oy g | D) PQ+QR«PF=AB- ~ . - 3
AT T ol B G 3 A Ty ST — - = ki 2
e S S SPALEI-ﬁ_RQUGH“WORK R e REn
: ¢ " . Tt - ~{
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L vost L . el i : RS
- _‘Hﬁ II..__F_i:';:—_u__lli_ﬂ Tt st ua_t:qgalta: _*‘*‘[‘T# ‘l‘l‘{?;a + ,;7 i‘]mltlhﬂsaluﬂﬂfl g TosaE
= r ey IR, XA e W
A T Lty g /s 2 |
o LR e @ 102 RO EN
© =i o 124. 7 In a triangle, if orthocentic Gcunicentre; incentre—
and centroid coincide, then the triangle must be :
et el : (A) equilateral right - angled
117, Anand marks up the pricé of anarticleby 50%and | . .. . @ ﬂ;l‘uSERﬂ I g""is]célesg -
then allows a'discount of 20% and sells it to Balaji. \ BN s e
Balaji sells it for 320 more than what he purdmsed : :
" for, this S.Pis 30% murethantlwungmltPol’lhe J . WX 2 , e
article. Then Balaji’s profit % is : i 125. '”"';1“'"2_ =722+, theni evalueﬂf_x IS :
(A) 833% @ 9% (A) 0 ]
wroe b a{Q) 5% e . (D). 666% ©Q -1 3 rone of these
118. [If out of 10 selected students for an examinagon, he p""ﬁ]ase of an article on
3 were of 20 years age, 4021 and 3 of 22 years, lha. OLApR> sloved. Hﬂw HCy
average age of the groupis:
. (B) ?'125
(A) 215 years {B). .?.ﬂyeaw S ©) 2150
G R {q 22}! .(D} 71 vgar\ -:ﬁ- I'i 3 ) : - 5 : A
' ] &3 o 1127, A shopkeeper marks his goods 40% above the cost
19, Thnumsisalvilueat . N price. Heallows adiscountof 5% for cash payment
- - to his customers. He receives 1064 after paying
- 1] ? ol s o - ,,?, the discount. His profit is: &
cots 63° sip= o3 {(A) T200 (8) 80O =
@ A € i O) 2 Q X264 SR S0 :
!' l ; 128. The term to be added to 121a%+64b2 to make a
IZﬂa The 2050 'Jf a h':.llm? ISR in;\ul-i in :ﬂﬂj Alter i-'ﬂl'[ﬁl 5qu"’re is: .
3vears, the owner of the house sold it iurbm l'.:mr-. (A) 178 ab (B) 188 b2a
than sie paid it. But she has to pay a tax of 5U% of N 17 A
the gain, The tax amount she has to pay is: © 176ab ) 2762
B X/ ® XM QX2 Dy X8 gl
_ 129, Ifcoswy = x'- x4 E'meiuenhmll-be
121. I the side of a square i::_:;g&m‘gui by 5%, Ts area . ik
- wiil he redizced bv: = FE} ; {,g] ]T dihea
: LT I S o) =1 {D) Neneof the above
S B-0E LG 7%, D) 80N ™ R
S SOl - 7 =0
- : 3 130.  Area of the floor of a cubical roomis 48 sq.m. The
]"Z. A cmtﬂn 11m'ﬂnlh- takes 10 hours to be Filled bra | !ﬂnﬂth of the longest rod Ihat can !ie k;_pi in. llni
.. tap, Bnll‘lu._:lLISL’t‘lf a loako Tt takes 2 hoursniore, | = Toomiss, |
- havw any hours will lhcimk eipty wuil cisten? L (A) 18 m B 6m =
JA) 30,0 (B) 60 - (q ELR ©Q Im @12 3
& -F i - e - w& - _?
e e TR T : - SPACE FOR ROUGH WORK - - . -
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131. Ifa,b,c.d,earefive conse-::utwe odd numbers, their | 140.  The :u-mgie subtended bya chord at its centre 15 607,
b averageis: then theTatio between chord and radius is:
)y sebraREREEEEY T | N RBal s DB L
abcde 2 : Lo i E
© 5+ - O = i LR :
. 2 '
132. A train crosses a platform in 30 seconds travelling M. A taﬁigﬁg}“: “ﬂmljﬂf}d a“flil ”!;fis‘fpr'ﬁd“; _
- withaspeedof60km/h. Ifthelengthofthetrainbe, | ”j?l :1& et T }f“?a& - “}“h“e :fd"“ I“'“ﬂf :
200 metres, then the length (inmetres) of the platform | - will the level of the field rise if the earth dug outo
= ' the tank is evenly spread over the field 7 -
{A} zm} {a] 500 (Q 400 {D} 300 (A) 05m  (B) im . i
- . Ly -- :-.({:}.2111- A= -'I['D_]'.IE m
Y 135 IEIS% Dflls sameas Zﬂ% nfythem yis: i ' ;
: (A) 6:5 {B] @ 4:3 O 5:4 |19 Ifihc uppnmtutdesul’a quac‘maLgm.und almlis'..
; diagonals are equal, then eachaf lh% ﬁIi}_,lE n‘.!f the -
134. Which :sthHarbcst nfthel'-:)!lﬂwmg Imctwns ‘quadilateral is: AN \
2 3 St (M) 1000 _B) c;r o ° (D) 120°
ARl L _ i
11 8 B 3 143. Acandga ﬂme, af w-ark’i‘nﬁ days, Bin 10 days and
&) 17 ®) 3 © 11 ) 5 Cig .:_Sffii ays, ﬁtey]om ¥ mmplelp the work and
g 4 Jeaim @Qﬂ_ :Elle sum 6f their wages for 2 ddysis:
- 135. . Two triangles ABC and PQR are congruent. Ifthe | A @L 7 160 @) Z120
' qrea ofﬂABCm EDsq cm, then area of APOR will *id ¥ 180 D} T200 J
- be; - v s -
120 sq. e : S SRR
E&l ;qu ET,‘; P l:[g]]' 30 b;qil OF Thegraph shows the result of 10th class students of a-
i L " ' - school for 4 years. Study the graph and answer
g 136. The least number whichmust be added to 1725 to QNo. 144 to147. 3
make it a perfect square is + :
®) 38 @30 (O 3% D)3 . ,
LED
137. " You arrweat}r{)ur';dmn.ﬂninmealate if you walk ;E = :
witly a speed of 4 km/h, but you arrive 10 munutes 2% i 5=
before the scheduled timeif you walk with a speed g A =
of 5 kmn/h! The distance of your school from your 5 & : - — il class
house (in km) is : : AL & :' ?355
@1 ®m2 ©4 OS5 Z5 x das
- 3 =
138.  Onwhatsum of money will the difference between % —
Sland Clfor Eanr'; at 5% per annum be equal to 4 : 3
T25/-7 . ‘,[ g 3 B e T
() 9,500 ~(B) 9,000 ; : Ly I
. fCI 10.000 (D) 10,500 "2l 344 "'haxear iy which the maximum number -.ﬂ’atuclent‘: t.
139, M fi’ 76 is divided "': B, Cinsucha . a}peared for. ti‘tell}“‘rhssmau.b ) )
9, '\ sum of 76 is divided among A, L - S
¢ T way lhatﬁngts?fmmethan that what B gets and (%) 2003 (B) 2000 . (C)"2001 . e "UG_.
e B *ets?u more than what C gets. The ratio of their _ it =
“e -Sl‘l‘irﬁ*‘: Ere ”=-—,_1 : 145. Thepe:'cent1mm{:n?asenffu*=td1s:,mthe&mr’jl}ﬂ""'
Ay ?2.21.2{1 - fﬁ} 'l“ FHLIR merthe\ear"*D[l._ﬁawprmumteh i 5
O 19:24:3 0 L@V 32:201% - [ A 10% B % o 12% D) 0%
i £ . i ] ot TS
~sw 4 ' : _ SPACE FOR ROUCHWORK T2l el ono i S (il
= L. 2 J S8 2
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The number of students dppeared for-the 10t class

146.
——— examirrthe year 200215

@) 200 @ 10 (@ B0 ) ws

147. The ratio of students scored second class to the total
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?HANDICAPPE '
NDIDATES ONLY:

144, The average w-:azghl of 150 workers is 60 kg The
average weight of men 15 80 kg and that of the ladies™
is 50 kg. The number of ladies 5

SRS

studentappeared.inthe year20004s: -~~~ - - E'ﬂ:} ‘JG{] _—[E‘J_'iﬂ fD} 78
E A) 5:16 11:16 3:16 4:17 ; '
*) > 8 Q3 © 145.. If x=2, y=4, p=8, q=10, find the value of
i iy 4 =2 i 2y e -
j B . e T et TEES s, ol : e ’,1- e — +2
Study the diagramand answer Q. No. 14810 150. - . | - Y B o 9. : :
@m0 % X '{n)-._':a:a e
. : ! rl ]
100 }— 7 146. Find the ndd ot of 1[1-“ loﬂoﬁth&ﬁe t of numbers :
%0 R - 15,20, 27, 32,39, 40 :
: 1 @ Food ™39~ @ q 40 " (D) 27
s 'l @ Clothing e G .
4 s i [ Education . 147. Onal Humﬂfmmw will the simple mtmest for !
= o Fuel : L% B?J'?Tler annum be half of the compound :
0 [ & House rent N 124 IU[} for 2 years at 10% per annum ? i
* B Misgelh'neuug. - -eﬁ'l R 206 B) T165 :
0 : ) .
e L gl S {Q?T?Er fD} ?1?5_-
0" 4 e " 148." In aright angled triangle, with sides a and b and
Family : i ; :
* hypotenuse c if the altitude on the hypotenuse is x,
then: - .
148. What fragtion of the {otal expenditure is spent on L, i SR - v
Education in family A ? (A) DR SR (B) ab=x- 2
(A) 1/5 (B) 1326 (O 2/3 D) 9/13 ab 2 ;
: . G == D) a2+ bi=222
149. If the total annual expenditure of family B is
310,600 then money spent on clothes during the | 149. In45litre of phenol-water the rahc-of phenol to water
yearis: - is 2:23. The amount of water thalshéuid be added
(A) T 1500 ®) 20 to |ttc=.mal-»ether'il:n B=37 X
s i (A) 2libre . (B) 4litre
() Ho G © 3litrs ©) Slitre _
150, If-the total amwal expenditure of family A is |.150. - The sellinz pn-:re of 12 art articles is & ual o tIu, Cos 1
T 30,000 then money spent on food, ciuthes and price nf13 articles, T hi‘ W& gain percent is:
N htmm.lenu__ ! : .- Ll = o S
- TBMe @ s G L e r—,, b il
© T @ 21,000 - - © 2% ~ D) 25% Wi
= L - SPACE FOR ROUGH WORK FE I ST
= - = . T R - i
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g : . PARESD- : X
e __ENGLISH COMPREHENSION ..

Directions:In Quesﬂon ncs 151to 155 some parts or the Duechmxs !n Queqhnn nm 156 1016{] sentences are gwen
sentences have errursp.n:i some are correct. Find out which | with biar}ks to be filled in with an appropriate word(s).
part of a sentence has an error and blacker the | Fouralternatives are suggested for each question. Choose
ﬂvai[@] mmagpondmg to the appropriate letter (A, B,C). | the correct alternative out of the four and indicate it by
—JH-asentence-i5-free from—errof-blacken-the-oval - Jﬂﬂﬁkﬂﬂiﬂgﬂ“-"—@llm@jﬂe—’l"‘ﬂiﬂll-fm—]-fﬂﬂlEﬁ'ﬂE“!’ﬂShﬂﬁL---

correspondingto (D) in the Answer Sheet. 156. Bob and jane decided to tie the knot because

151. lsprained m\ranlcie ;’ wit 1@11-1 was/ L - == =
3 {"’1} (S fB} . [A) they wante ed to mak eal{mgmpe !
'_Elaxmgbasketba‘! ,:"Nc- Do o s (B) iill}ﬁd come und_ﬂne =

Zrad ] \9/ _ (©)- - 2 (© they loved one another
: : " D) they needed tasaven
152. Aftertastingboth / John prefers/ e

(a) (B) 157, Leila said the new restaurar
about.She thouShkit was

(B) -Excei]ent

tea thancoffee. /No Error.

- - (B

(D) :13'.:1.]])r terrible .

153. “Itistime / ? - ' et 1%‘&, @L - pissed the -I:ﬁranmch
A ) . SR p,}{ blo#: £ e (B) Al
[ ) . "\ 1 = ;
N e ()1 score [7IgTE s
we should accept all our people as equals/ & 5~ ) (B v
T " ] | - - - - i [ ? :. 5 "
(B) A 159. My Nigerian friend, Fela is having trouble findings
: - ! in L. , but he says if push comestopy
and as partners inthe task of building a strongand ‘." nr]F hk:e re_m L?nd?n EHESALD D
united natign: / No efror e . siove sl vl ] ~an
= L INO & . =iy
{8 (D) (A) end of the journey that is life- e
i - h : of
e (B) go back to Nigeria

16"
m ' () gotojail

) :
(D) winthe lottery

%z
156 N 'lmr_ed / thedrawings/

() | ! , |
160. 1Lyou say to someone “You're so full of j.‘-.:ﬂ.l.i'fn'z1l"'[-§-ia.E :

- they were so real. / No error. they'll probably feel , !

—0 ©) : | ,
L 1 (A} calm (B) proud
R 'Lipséi (D'; pleased . .
155, . Suddenly thev saw a car conung, / T . Y e i lﬁﬂ_

R [ T SRS ) B S i T .-
; e i 3 b Direﬂmm In Luo“-tmn TToS: ]61 to 163; ut uf_he for
— - | alternatives, chonse the one W which best E\presses 1

at a break neck speed. /

L [B}.' ) T i el L mﬁﬂnmg.o} t]léﬂne"rum-,andnwkﬂmtheﬁm.uerSheﬁ
X - iR S ‘j‘; " 161, EXTRICATE: = e &
o An old man were erossing the rdad at tie Zebra™ - BT o
2 AT e e @ Cmupllute ® Pl S .
Q (D) b e s e {q Free = . (D) Tie " . e
e o - 1 i I g % =, | - - < i L Y '_ 3 ‘_.-r - -’i‘-
CY-2013/Page28 Dot I 1-r~I*~‘]éilC—
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162 CREDIBLE

[C} Lharmn}g ]

163. OBSTREPEROUS:
- (A)-Awkward

[B}' wuﬂhy

(D) serious

-- (B} Sullen

(@) | Unrul}*

i D:rechons In'Question fios. 164 to 166, chioose the word |

(D) Lazy

- -op posite in meaning to the given word and markitin the

: AnswerShpet

* 164, - DISSENT:

(A} unacceptable
(C} discord

: '165. , GROUP:

Il (A) alone
1_ {C} siﬁgulai: v
1 .
| 166 Ji.CQLHT

_(A) smart 2 i

MEspa1r

(B) agreement
(D) disagreement

(B) solitary «

V(D;rmdw.dua} :

(B) condemn
@) mild

Directions : In Questions No. 167 to 171, four allen]ali\-es
are given for theldiom/ Phrase underlined in the sentence.
Choose the alternative which best expresses the meaning

of theldiom/Phraseand mark it in the Answer Sheet. *
167. He gaveventto hispleasure withasmile.

- (A)-expressed (B) enjoyed
(© shared - {D) allowed
f 168. Wemust husband our resources against hard times.

~(A) sing

(B) cm}ce}ie
! {L‘.}J.smre

(D) s.up]:n::ri

T

. After his business failed, he had to uﬁrk very hard

: 169'
T " tokee Hheuclf from the door.
they- - . [,1';) regain hlslmt p('--:lfn:'u Coe— -
2 ;
] _;“‘ - {B} detend!romename-a = g

i -

1,.4‘5"“ A=\

NG e e

-476. The athletes vho. have woil prizes

Downloaded From : http://sscportal.in

170, The newly elected Chief Minister has pmmtu;ed_m
pring about changes in ) the state,

lﬂj't (e

Apster

Sl Sl -

[rl}’make

(A) carcy |
(O produce

171.  The mention of her former husband's name still
makes Rita ma m at the mouth.

Eﬁ}‘/:f'n .

(© angry

T lal] -:Jrk
(D) -vomit

: _D:rechc-ns In Que:-lmn ROS: 1‘?2 to 181, a sentence/ a part

of the Senlr:nce is underlu‘md Below jregiven alternatives

to the underlined part at (A), ), (Bl C}whu:hnm improve
the sentence. Choose the :ml{?ﬁ alternative. 1n case no.,

improvement is needed your a 15Wgr45 (D). ddark your
answer in the AnswerSheet.

172. The nluccls.g__gp "ﬁec]use_-d.
. (B aboutio

{Dj Noimprovement ]

(A) jJust to
(@ whereto

Can you please gwe me some leave ?

V}/gra_nt me'

(D) Noimprovement

173 ¢
fﬁx} grant for me

(O) grantfromme

174

He found a wooden chéir that has brokerr in the
room. '

(A) wooden and broken chair -
{B)~"broken wooden chair
(©) broken and woodenchair

(LY No improvement

The hosts were taken aback when manv guests who
iad been invi ted did notturn up tor the party.

(A) hadbeemmhed (B) -hadinv jted

Q). was invited
|'.,_‘ J -

@) Nui g em:mt

™ -, " a rs
e heing -

honoured. ; N

\J@,}Jhe prue ﬁnuunﬂf "Lﬂ'l'&t'fb,- ipes =

——

(B]” The athletes W 110 are givenprizes

e Tht‘ athlefes w hq are wuuun Brizes,,. o e anne
(D) Nmm]:nm ement
- — E :'l—l'-'l

—
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= 177 Motor cars carry peaple fromone place to another.

: " (A) from 5.:laceh.lplace'
~ " (B) aboutthe place”

- (C) ffor travel ~

BT No improvement

~ 178.The rqbhers fled before the police came.
© {A) arrived (B) were coming
{*‘L demme 0 Nuimpmvement

179.  Theleacher wasw_r}rg f:-:mn in hm subject.
(A) cxpert {'[E'r]l weli versed

9, proficient D) Noimprovement

180. Then withall his ]Dm he sailed mw‘ud% Scotland’s.
shore.
(ﬂ.) onwarids (B) towards -
(€ forward (D) Noimprovement

181. The master aimed a blow to Oliver’s head with the
Tadle, : S A

http://sscportal.in

187 A person who auppurh or apeakx in favour of

something : 3 %
(Ay-adviser. .. _(B).. voluntcer .
(C) advocate (D) assistance :

188. Onelivingonvegetables:
_{B) barbarian. -
- herbivore

(A) carmivore -

©

ueg,etaﬁan

| Directions: In Question nos. 189 and 19!3 "fnur WOrds arﬁ :

gwen in each questu:m out of which -::n_'[y one wnrd is -

answer m_ihe Answer Sheet

189. (A) Posseseon

{C)-Possessien
o

#

" (DyAmmaculate

Imakulate

umlm,n [0S, ]91 to 200, you have two :

(A) athrow at {B) apunchin. >
'{C-] ah!nw at (D Nmnpmw_rm_nl

£
Dlrectmns In Queat.ﬁn nos. 182 to 188 gout n%e {u_d_r
alternatives,choose the onetwhich ganbesubstifited for
the given words/ sentenices and idicate it by blac Lcmnp
the appropriate oval [ @ |in the Answer Sheel.
--.. 182, Anextrackiroma haoknfseriting
(A) Eening;r,- JBk Profm_e
o (ORExSIEL: . 15 . (D) Review,
183 A person whoasself-centred:
(A)" narcissist’ (B) eccentric
Jg_,%;_c:ﬁi (D) masochist
184. o The t"ir_'mg of many gunsat the same time tlomarkan
_ OCCasion ;
(A) attagk - (B) volley £
" (CFfusillade D) salvo
.2 .J,b A word lh:l.t w.ad:. :lw se-rm h ac Kivards as
Lo farwards - =i : SR
xiy cahi) ACTOnYER ¥ (B} 'p';llin_drm'r_te
T @ m.;uauu. R _'{D]_-‘jlmitmpht.}m* g
166.0 A prmupl& or wtandani ltxfwui‘u ch anyvthing i is, or |
:4"": u'mbd:]u-:{ﬁed = :
’!!-'I_A}_epttnme. § _-,{E}:-;:ril::rliqn P s 4

o - . =
(©) _manirel:-ftt) =

—_
e

*| of 1789; Within these 200 vears: science has made.a

: '-F‘1.J|._' d ‘T. lm it %u.tdent‘t"ho,_,lq* !‘1

(D) copymght - -

seeivith 5 questions following each passage- Read:
assages caretully and choose the best answer toeach -
fQuestion out’of the four alternatives and mark it by -

blackening theappropriate oval [ & | in the Answer Sheet.

Passage - [ (Q. No.191-195)
We are living in the Age of Science. Evervday new
inventions are being made for the good of humanity. Th

scientific inventions beean after the Industrial Revolution

wonderful progress. The aeroplane is one of the most

important inventions of science during the Modern Age. It

T AT T v oy e e R 6 e

is the Iastest means of transport known so far. Anaeroplane
resemblesa flving bird in shape. In side there are seats for

the passengers and a cabin for the pilat, This cabin s called

B

acockpit. lthasanengine that is wl.'-l'ketl*-l-\' petrol. it is ali

\h,.;le up 4_11 m:eh ¥ I‘tm‘f w,n Ih d! AAery 1‘11 ’H speed. Befom @

ame off it runs on the r uﬂ‘.vm for some d}ktame 1o g,itl Ver
£a rl‘ﬁ‘u'td takes off.

191; The'= s ona-of the most 1mpm!11u-.;
= fnimm of »-.u..ue dmm;ﬂ the ’Hln;f-:rr Age,

“(A) mator velvcle™ (B tr i -

(©) shipr ™7

—

D) dSteplane 2

—_——

e ——

-—
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109 ] 1 - i o send 2 - i 1 N
32 SEieme T anenzine lat s worked by | though muchof this isbeing expanded to four-lanes. and

'-m.n-r_‘mm\c oF Ltﬁ'htl‘mﬂb ""10"1'.?%{“1:1115” thm
: i bz nehworis ard
Ay steam_ B i

“toll roads, Over 30,000%m of new hie i
Q) diesel \/@}/peimi : ! ] Ijew highways are plalmed
. or under construction as part of the NHDF, as of 2011.

This includes over 2600 kmof expres SSWays :
__193. _ The scientific nmnlmn began a[tf.-r the lndusurnl k CUETERTlY undef

D F s L 1 L i £ e e e ey (e i e e e Tt —conshueHoR—- -~ = e
s v 196. " What'is the responsibility of the N1 AL ™" "™
g8 \(9/[’?39 als [D}‘IEEEJ _ ' 5 {A) control of National Highways

[:B} éxpaﬂsinﬂ Uf Nﬂtjﬂﬁﬁ] i ‘l;-gh'l"-"ﬂ}-'ﬂ ;
194 -The cabin for th!:‘ pﬂ(}t iscalleda e

,\/{’(/ cockpit (B) chamber

(©) cubicle (D) cube (D) /hmhlm upgrading
™" National ‘}u-:n_va

Waintaiping of

8P of roads in India are National
i

195. Weare living in the.
(A) Modern Age
‘{:B}/lﬂ;.ge of science
(C} I Age of inventions

B) 40%
' -
D) 30% - N

-

(D) Ageof industrialization

198. What is the curreni measurement of expressways
under construction in India ?

Passage - [1 {Q:No. 196 - 200)
(A} 2,600 km : ﬁ}’ﬂllt]ﬂ km

“The National Flighy avs Network of India measures
over, 70,934 k;ﬁ as o ;.2{.‘1'};5}; including over 1,000 km of

limited-nccess e ‘e

(C) 15,000 km (D) 30,000 km

W ags, Out of 71,000 km of National e e o
& ek dlhelis 199.  The majority of National Hjghways in India have :

Highways ﬁﬂﬁt}plus‘:cm are 4'or 6 lanes and.re maining

) {A) eight-lanes (B] four-lanes
.| 50,000 kmare 2 lanes. The National Highways Authority o
' | (" two-lanes (D) six-lanes

¢ | of India (NHAI]} is the nodal agency responsible 4or
Wy g ; §s 3 —p— - i 5 - =
i | building, upgrading and maintaining most of the national
=] = ) 200. What is the measurement of two-lane National
i highwavsnetwark. The National Highwavs Development High “’E ol i e
- A " o (L

H roiecHINBDEY is 3 mai . Zads norade X : _
| Project 7 H:"*f I'.i? ruﬂllnr effort to expend 11_1d uperaite . T ﬁﬁ,iﬁﬂl},[\;m B i
o | thenetwork of highways. NHAl oftenusesa public-private |- & Rt Uiz
| T (Q 15,000 ke D) 61.000km  —
F“mfl‘_-l_ug_nmit[lm highway d dev e[opment nmrmem:‘u BT e "-‘J_«' el ke SR
. -r LE "M_." = -J' N __- = e "% B 1 :- 5
w4 and toll-collection, ‘wtmrmI!nﬂ]mm constituled ﬂbmu '}'?L_'f_?r;_-::,:'-‘_‘}._-;.'g e T Geeadtfmae
7R -‘ - e (=7 S
2% of all the roads in Intha, but carrfed alwmit.—lﬂ“h-nf the - ~ollo- - %}3;] ” .
total road traffic as of 2010, The iiiajority ofexistimg national L\\i S s i s '}.—n-'ﬂeff_'_ 1*:55.?
. ’ I - . . —_— : 4."},,.-"5_.\,._“ ;: LA N ; .:.'l..isl_r. S
highways are two-lane roads (one Jane in each dirgction), | qees WA e g
_ - = 20 A

- i ! A"
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